Pre-Calculus Final Exam Review– Spring 2016
1. Convert the rectangular equation to a polar equation that expresses r in terms of 
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2. Find the product of the complex numbers 
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3. Calculate the value of an investment of $5,000 at 6.5% for 6 years, calculated both semi-annually and quarterly.
4. Evaluate 
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5. Solve each of following equations:

a. 
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b.  
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d.  
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6. The half life of aspirin in your bloodstream is 12 hours.  How long will it take for the aspirin to decay to 70% of the original dosage?  (Round to the nearest hour).
7. Solve the system of equations using substitution or elimination.  
a. 
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b.  
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8. Find the maximum and minimum values based on the following linear programming problem:
Objective Function:  
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Constraints:  
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9.  A manufacturer makes two types of jet skis, regular and deluxe.  The profit on a regular jet ski is $200 and the profit on the deluxe model is $250.  To meet customer demand, the company must manufacture at least 50 regular jet skis per week and at least 75 deluxe models.  To maintain high quality, the total number of both models of jet skis manufactured by the company should not exceed 150 per week.  The company is trying to maximize profit.  Give the objective function and the constraints.  
10. Solve the following matrix using Gaussian elimination.  
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11. Find AB:
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12.  Find A-1.   Don’t forget to check your answer by multiplying 
[image: image16.wmf]1

AA

-

×

 to get the identity matrix.
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13.   Find the determinant:
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14. Will a truck that is 8 feet wide carrying a load that reaches 7 feet above the ground clear the semielliptical arch on the one-way road that passes under the bridge that is 30 feet wide and 10 feet tall at its highest point?

15. Identify the conic section that the equation represents.

a. 
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16. Find the limit:

a. 
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17.  Find the derivative of 
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18. Graph  
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19. Graph 
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20. Graph the system of inequalities

a. 
[image: image27.wmf]22

16

2

x

xy

y

ì

+>

ï

í

£

ï

î






b.  
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Graph each of the following conic sections.  Identify all key characteristics such as center, vertex, focus(foci), directrix, major axis, minor axis, and equations of asymptotes where applicable.  

21. 
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24. Graph the plane curve described by the parametric equations 
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25. Graph 
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.  Find the following limits:

a. 
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